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▪Арифметические 
действия.







35 23 12
    

   .  +  .  -  .  =  24

 .  +  .  -  .  = 0 



  35 + 23 – 12 = 24
23 + 12 – 35 = 0







Решить уравнение

3 * x= 2061



       X = 2061: 3
X = 687

           3 * 687 = 2061
     2061=2061









Составить и решить задачу.

одинаковое5ч.? км/ч

одинаковое4ч.5 км/ч

расстояние времяскорость



    

   

     I        
60,17,8,600,6000

II    57,9,5,570,5700



763*890

763*890507*15420:15

123728:7032176:3236*17

3 уровень2 уровень1уровень



679070

679070760528

17668612

3 уровень2 уровень1 уровень 
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